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4. o5 2" za+ b & 27127

@ 70° @80° ® 90° @ 100° & 110°

/AFE = /CFD = 40°

/BEF = za + 40°

/BCF = /b + 40°

oBCFE of| A

60° + £b + 40° + 140° + za + 40° = 360°
La+ /b = 80°




O - za+ b+ Lo+ td+ Le+ Lf + £g+ th+ i &) 2717

@® 600° @ 700° ® 800° @)900° ® 1000°

AE CF & dZsH

td + te = /OCF + /OFC 0|22

Tote Zhe AP Yo 2719 g 2ot
. 180° x (7 = 2) = 900°




6. o2 1%l AB=BC =CD, AD = AE, DE = BE ¥ 1, /C 9]
2717

A

@© 24° @ 30° ® 32° @936c> ® 42°

B ‘
/CDB = /x , /ADE = ¢y , /BDE = /z 2} o}'H

Lx+ Ly+ £z=180°---O

AB =BC °]B2& /A = /C, /CBA = 180° - 2.C

CD =BC o|B=&

180° — £C , 1
DC—T—9O —510--@
AD = AE o|1, /A = /C °]|E&R

180° — /A 1
Ly=—"=90°-=/C :--

y 5 5 ©
DE = BE 0|22
/z = /CBA — /x

= (180° - 2£0) - (90° - £ £C)
=90~ 2.0 +-@
©, ®, @& Gl HdstH

o 1 o 1 o 3
(90 - 510) 4 (90 240) 4F (90 210)

5

= 270° — EZC = 180°
" /0= 36°
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180° X (n—2) : 360° =5 : 1

180° x (n - 2)

360° x 5 = 1800°

WehA 5 = 12 o B2 40|17 go]




Che 2HNA 2x + 2y O] #27?

@roe @ 75° ® 80° @ 90° ® 95°

B

(ADC = 20° + 55° = 75°

(ABC = 75° + /x = 105°

Lx = 30°

(KIL = 30° + 65° = 95°

(KLI = 25° + 20° = 45°

AKLI o] A jzte] 37]9] g2 180° o] B =
Ly =180° — (95° 4 45°) = 40°

ok2bA] zx + Ly = 70° O]t}
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(A =80°, /B=110° ¥4 o, «C+ /D + (E + (F & 27]=?

@® 150° @170° ® 210° @ 270° ® 350°

ok

>,
ftlo
rEl
il

(EGF = /AGC = /D + (E + (F ©]1

/A + /B + /C+ /AGC = 360° 0|22

80° + 110° + £C + /D + /E + /F = 360° ©]t}.
. LC+ /D + (E+ (F =170° o]t}




10. o= 27 AABC oA /B €} /C 9 o] 5241 wdS D 2t &

o, /BAC ¢] 27|=?

A

D 50° @60° @ 70° @ 80° ® 90°

B

ADBC ©f| A

/DBC + /DCB = 180° — 120° = 60°
/B + /C = 2(/DBC + /DCB) = 120°
. /BAC = 180° — 120° = 60°




tt2- 1A LABD = /DBC, /ACD = /DCE € wj, zx 9] 27|

9

@ 10° @ 20° (@)30" @ 40° ® 50°

S5 )
/DBC = /ABD = g, /ACD = /DCE = b 2t115}4}.

(DCE = /x + tDBC

b=t(x+a---(1)

(ACE = 60° + /ABC

2b = 60° 4 2a

b=304a---(2)

(2) A& (1) Aef tiistH

30°+a=/‘tx+a

" Lx = 30°




12. o8 TN za+ b+ se+ cd + Le + Lf O] FHE7

® 1000 @ 1200 @200 @360 © 4800

~&B

o2 T1”olA
la+ /b= /x, lc+ /d =Ly
Lla+Lb+ Lo+ td+ Le+ Lf = Lx+ Lyl + Le+ Lf = 360°
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:(m-3)=1:3
m—3=3n-9

(n-3)

.Q

180° X (1 — 2) + 180°(m — 2)

m=3n-6..

1080°

©

n-2+m-2=6-

@& Ol Bt
n-2+3n-6—-2=56
4n = 16

n=4, m=6°|BE&
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@171° @ 185° @ 200° @ 279° ® 81°
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AAZFg o] JF QJzFo] 7] : 360° + 10 = 36°
Bu7rge| o yzte] 2] : X E=2)

d

= 135°
So36° + 135° = 171°




15. & oA oABCD & AAMZI o)1 APBC =
o, /BAP 9] 37|=?

A D

O 60° @ 65° @ 170° @75°

® 80°

~&B

APBC 7} A4zt o|B 2 /PBC = 60°
/ABP = 90° - 60° = 30°
AB=BPo|E=&

(BAP = (180° - 30°) + 2 = 75°




